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Sl in CAPFs, ASI in CISF and Sl in Delhi Police Examination-2019 (Paper-
)

[Roll Number

[Candidate Name

[Exam Venue Faridabad
[Exam Date 09/12/2019

Exam Time 10:00 AM - 12:00 PM
Subject S| CPO Examination 2019

Section : General Intelligence and Reasoning

Q.1 In a certain code language, ‘apple’ is called ‘pear’, ‘pear’ is called ‘orange’, ‘orange’ is
called ‘guava’ and ‘guava’ is called ‘melon’. In this language, which one of the
following will be a citrus fruit?

Ans ' 1 Pear

X 2. Orange
x 3. Melon
« 4. Guava

Question ID : 864407485
Status : Answered
Chosen Option : 4

Q.2 Ifin a certain code, ‘BRIDGE’ is written as ‘ACQSHJCEFHDF’, what is the code of
POWER?

Ans X" 1. QOPNVXDFSQ
W 2. oanPvxDFQs
75 3. OQNPVXEFRS

/5 4. QONPXVDFQS

Question ID : 864407486
Status : Answered
Chosen Option : 2

Q.3 Which of the given options would be a logical sequence of the following words?

1.Decameter
2.Millimeter
3.Hectometer
4.Centimeter
5.Decimeter

Ans X" 131,524
K02.2,1,53,4
o 331542
K 4.5,1,3,2,4

Question ID : 864407474
Status : Answered
Chosen Option : 3

Q.4 The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in the
following figures. How would this paper look when unfolded?

HH
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Ans q\/b
?‘{'1.> O <

X 3.

Question ID : 864407515
Status : Answered
Chosen Option : 4

Q.5 Select the Venn diagram that best represents the relationship between the following classes.

Star, Sun, Mercury

Ans

1.

S

,@Q
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Question ID : 864407518
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Status : Answered
Chosen Option : 4

Q.6 Four pairs of numbers have been given, out of which three are alike in some manner,
while one is different. Choose out the odd one.

Ans 5 1. 25:16:9
< 2.64:100:18
o 3.81:9:19

2K 416:64:12

Question ID : 864407500
Status : Answered
Chosen Option : 3

Q.7 3elect the option in which the given figure is embedded. (Rotation is NOT allowed)

Ans

N
B

Question ID : 864407512
Status : Answered
Chosen Option : 2

Q.8 Four words have been given out of which three are alike in some manner, while one is
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different. Choose the odd one.

o 1 Fan
K 2. Floor
25 3. wall
75 4. Ceiling

Question ID : 864407478
Status : Answered
Chosen Option : 1

Q.9

Ans

Which of the option figures is the exact mirror image of the given problem figure when the mirror is held to the right
side of the problem figure?

SIR

@ I

F R

W2

r1 B
gle
<

*
sIe

Ll wy

@
SIR

Il w

Ale

@ 1]

Question ID : 864407514
Status : Answered
Chosen Option : 2

Ans

https://ssc.digialm.com//per/g27/pub/2207/touchstone/AssessmentQPHTMLMode1//2207019322/2207019322S1D10656/15763275923527222/2201034460_. ..

Mothers. Doctors, Females

Q.10 Select the Venn diagram that best represents the relationship between the following classes.
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Question ID : 864407519
Status : Answered
Chosen Option : 3

@M How many triangles are there in the given figure?

Ans K 1. 30

Question ID : 864407509
Status : Not Answered
Chosen Option : --

the given pair of numbers.

76:171
Ans  of 12863

5 2.24:39
X 3.62:135
< 4.52:115

Q.12 Select the option in which the numbers share the same relationship as that shared by

Question ID : 864407496
Status : Answered
Chosen Option : 3

Q.13
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Select the figure that will come next in the following figure series.

-

Ans

<8

W 4

al| ks kdlke

Question ID : 864407506

Status : Answered

Chosen Option : 3

Q.14 A statement is given followed by two conclusions | and Il. Consider the given
statement as true and decide which of the given conclusions logically follow/s from
the given statement.

Statement:
The Prime Minister has made clear that his government will make concerted effort for
the upliftment of poor farmers and announced an annual pension for them.

Conclusions:
I. Government understands that the condition of poor farmers needs immediate

attention.
Il. No benefits are announced for other sections of society.

Ans x 1. Both conclusions | and Il follows.
« 2. Only conclusion | follows.
K 3. Neither conclusion | nor Il follows.

K 4. Only conclusion Il follows.

Question ID : 864407489

Status : Answered

Chosen Option : 2

Q.15 Stayen starts walking towards North. After walking 70m he turns to left and walks 35m
straight. He then turns to left and walks 30m , again he turns to the left and walks a
distance of 35m. How far is he from the starting point and in which direction?

Ans X" 1. 35m, South
#5 2.35m, North
o 3.40m, North

5 4.40m, South
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Status : Answered
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l Chosen Option : 3

https://ssc.digialm.com//per/g27/pub/2207/touchstone/AssessmentQPHTMLMode1//2207019322/220701932251D10656/15763275923527222/ ...

Q.16 In a certain code language, ‘RIVER’ is written as ‘“10-3-5-2-10° then how will ‘PETROL’
be written in the same code language?

Ans " 1. 13-5.8-9-4-15
75 2.12-2-8-10-13-15
/5 3.11-2-7-10-13-16

W 4. 12-2-8-10-4-16

Question ID : 864407488
Status : Marked For Review
Chosen Option : 2

Q.17 Select the option that will replace the question mark to complete the given series.

7,17, 41, 85, 2, 257

Ans o 1 155
5 2,165
75 3.105
254150

Question ID : 864407493
Status : Answered
Chosen Option : 2

Q.18 Identify the number that does NOT belong to the following series.

104, 108, 54, 58, 29, 31

Ans ' 1 58
< 2.29
/X 3.54
W 431

Question ID : 864407491
Status : Answered
Chosen Option : 4

Q.19 Arrange the following words in the order in which they appear in an English dictionary.

1.Meticulous
2.Metric
3.Method
4.Mettle
5.Meter

Ans " 1.53,1,4,2
K02.3,4,51,2
V353124
K 4.51,3,2,4

Question ID : 864407473
Status : Answered
Chosen Option : 3

Q.20 Study the given pattern carefully and select the number that can replace the question mark (?) in it.

3 18 parg
14 13 ?
34 62 98

Ans
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X125
v
X3 15
X4 23

Question ID : 864407502
Status : Answered
Chosen Option : 2

Q.21 A farmer is preparing his field. He starts his tractor from garage and drives 5 km
towards East. From there, he turns right and drives 6 km. Then, he turns right and
drives 8 km. Again, he turns right and drives 10 km when his tractor breaks down.
What is the shortest distance between his current location and garage?

Ans  of 1 5km
< 2.6km
X 3.9km
5 4.2km

Question ID : 864407516
Status : Answered
Chosen Option : 1

Q.22 Select the option that is related to the third term in the same way as the second term is
related to the first term.

AOE : FUJ :: RKT : ?
Ans 5" 1 vOY

25 2. vax
5 3. woy
W 4 way

Question ID : 864407483
Status : Answered
Chosen Option : 4

Q.23 Four words have been given out of which three are alike in some manner, while one is
different. Choose the odd one.

Ans X 1. Stars

x 2. Planets

X 3. Galaxies

“ 4. Rockets

Question ID : 864407477
Status : Answered
Chosen Option : 4

Q.24 Select the option in which the words share the same relationship as that shared by the
given pair of words.

Wheel : Spoke
Ans X" 1. Chapter : Book

75 2. Table : Chair
X 3. Star : Galaxy

( 4. House : Room

Question ID : 864407481
Status : Answered
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l Chosen Option : 4 J

Q.25 Select the option in which the words share the same relationship as that shared by the
given pair of words.

Lotus : Flower
Ans « 1. Rial : Currency

x 2. Metal : Copper
K 3. Paper : Book

x 4. Furniture : Wood

Question ID : 864407482
Status : Answered
Chosen Option : 1

Q.26 Select the option in which the numbers shares the same relationship as that shared by
the given pair of numbers.

(73,78, 93)

Ans X' 1 (67,72 ,82)
5 2.(29, 34, 39)
X 3.(23,33,38)
of 4. (145, 150, 165)

Question ID : 864407501
Status : Answered
Chosen Option : 4

Q.27 O
If the given figure is folded to form a cube, which symbol will come opposite * 2

O

<
0

-
I

Ans K1. O

X 2

<[]

W 4

Question ID : 864407510
Status : Answered
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l Chosen Option : 4 J

Q.28 Select the option that is related to the fourth term in the same way as the first term is
related to the second term.

QMDFEHKNJ : FDMQVJNKH :: ? : HELIOPTER
Ans X' 1 LIEHLREPT

#5 2. ILEHOERTP
o 3. ILEHLRETP

75 4. ILEHORETP

Question ID : 864407484
Status : Answered
Chosen Option : 3

Q.29 ‘Greedy’ is related to ‘Generous’ in the same way as ‘Vindictive’ is related to:
Ans X 1. Revengeful

x 2. Apathetic
25 3. Inimical
o 4. Merciful

Question ID : 864407479
Status : Answered
Chosen Option : 4

Q.30 Four letter-cluster have been given out of which three are alike in some manner, while
one is different. Choose the odd one.

Ans X" 1 RUXA

5 2. MPSV

75 3.BEHK
W 4.civa

Question ID : 864407475
Status : Answered
Chosen Option : 4

Q.31 Read the given statements and conclusions carefully. Assuming that the information
given in the statements is true, even if it appears to be at variance with commonly
known facts, decide which of the given conclusions logically follow(s) from the
statements.

Statements:

|. Some Delhites are Singaporeans.
Il. No Singaporean is an American.
Conclusions:

|. Some Americans are Singaporeans .
Il. All Singaporeans are Delhites.

Ans X 1. Either conclusion | or Il follows.
x 2. Only conclusion Il follows.
X 3. Only conclusion | follows.

J 4. Neither conclusion | nor Il follows.

Question ID : 864407490
Status : Answered
Chosen Option : 4

Q.32 Which of the following pairs of numbers and signs, when their positions are
interchanged, will correctly solve the given mathematical equation?
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17%15+3-11+3=45
Ans X" 1 15and 11, - and x
o 2. 15and 11, + and x
5 3.17and 3,—and +

#5 4.15and 11, + and —

Question ID : 864407505
Status : Answered
Chosen Option : 2

Q.33 The two given expressions on either side of the ‘=’ sign will have the same value if two
terms on either side or on the same side are interchanged. Find from the given option
the correct terms to be interchanged.

5x2+8+2-1=9-6+3+6x3

Ans 5189
K219
3509
K426

Question ID : 864407503
Status : Answered
Chosen Option : 3

Q.34 Four pairs of letter-cluster have been given out of which three are alike in some
manner, while one is different. Choose the odd one.

Ans  of 1 XHEP - KVRA
< 2. ARNI - RMIZ
75 3.OLEV - EVOL

75 4.TSRA-ZIHG

Question ID : 864407476
Status : Answered
Chosen Option : 1

Q.35 Select the option that is related to the third term in the same way as the second term is
related to the first term.

Ballet : Choreographer :: Clothes : ?
Ans X" 1. Shopkeeper

X 2. Printer

x 3. Producer

of 4. Tailor

Question ID : 864407480
Status : Answered
Chosen Option : 4

Q.36 Four pairs of numbers have been given, out of which three are alike in some manner,
while one is different. Choose out the odd one.

Ans X' 1 51-25
/< 2.50-7
75 3.16-3
W 4.64-32

[ Question ID : 864407498 ]
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Status : Answered
Chosen Option : 4

while one is different. Choose out the odd one.
Ans 5" 1.321:213:123

W 2.432:324 - 231
#5 3.798:897 : 798
7X 4.564: 645 : 456

Q.37 Four pairs of numbers have been given, out of which three are alike in some manner,

Question ID : 864407499
Status : Answered
Chosen Option : 2

Q.38 Select the option that will fill in the blank and complete the given series.

FTB, IQE, LNH, OKK, ?
Ans X" 1 SHN

5 2.RGM
75 3.SHM
o 4 RHN

Question ID : 864407472
Status : Answered
Chosen Option : 4

O AlO AlA ¥[a %
10 L] [] 18I
E K ] O

)

Ans

X
>

X

.
*l_l
X bl ool oo mE 3k

p 3

[ |
—

X
]
L

Q39 Select the figure that will come next in the following figure series.

Question ID : 864407507
Status : Answered
Chosen Option : 2

Q.40 Select the option that will replace the question mark to complete the given series.
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40, 50, 61,73, 86, ?, 115

Ans  of 1. 100
< 2.98
X 3.105
< 4.9

Question ID : 864407492
Status : Answered
Chosen Option : 1

Q4 Select the figure that will come next in the following figure series.

iy

r 0

X
<2 ﬂ
il

.
J

—x\Jr—@F—
¥

A O x|

Ans

K

d |

W 3

@
. |
Koo

_l_
)

Question ID : 864407508
Status : Answered
Chosen Option : 3

Q.42 Which of the option figures is the exact mirror image of the given problem figure when the mirror is held to the right
side of the problem figure?

ALPha797charLIE

" Xk gdDTIA 797 ALT1ed

72 MITIeYIL6 LeUd TV
x o ALT1edoVeTgd 1. 1H

v« AL IedoVeTed T 1A

Question ID : 864407513
Status : Answered
Chosen Option : 4
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Q.43 If D =12, AGE = 39, then ‘JADE’ will be equal to?

Ans  of 160
< 2.58
75 3.40
< 462

Question ID : 864407487
Status : Answered
Chosen Option : 1

Q.44 select the option that is embedded in the given figure. (Rotation is NOT allowed)

Ans

K3 SAHRNAH

K4

Question ID : 864407511
Status : Answered
Chosen Option : 2

Q.45 Select the option that is related to the fifth number in the same way as the second
number is related to the first number and fourth number is related to third number.

31:3::75:35::54:7

Ans X1 9
<221
250319
W 420

Question ID : 864407494
Status : Answered
Chosen Option : 4

Q.46 Select the option that is related to the fifth number in the same way as the second
number is related to the first number and the fourth number is related to the third
number.
9:102::11:146::13:7

Ans  of 1 198
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< 2,200
53,175
547

Question ID : 864407495
Status : Answered
Chosen Option : 1

Q.47 Four numbers have been given out of which three are alike in some manner, while one
is different. Choose the odd one.

Ans o 1 117
25 2.103
75 3.107
254113

Question ID : 864407497
Status : Answered
Chosen Option : 1

Q.48 The Venn diagram given below shows the artists in a Music School. The *Triangle” represents ‘Planists’, *Circle’
represents ‘Drummers’; the “Rectangle’ represents ‘Guitarist” and the *Square’ represents ‘Singers’. The numbers given
in the diagram represents number of persons of that particular category.

How many singers are also pianist and guitarist but not Drummers?

Ans X1, g

Question ID : 864407520
Status : Answered
Chosen Option : 2

Q.49 If + means —, — means X, X means ¥, and + means +, then what will be the value of
following expression?

13-3+15%x3+5="7

Ans &X' 1 37
K242
W 339
X 441

Question ID : 864407504
Status : Answered
Chosen Option : 3

Q.50 Select the letter that can replace the question mark (?) in the following series.

K J, LI, ?H

Ans &1 L
K 2D
W 3w
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4N

Question ID : 864407471
Status : Answered
Chosen Option : 3

Section : General Knowledge and General Awareness

Q.1 How many polities does the institutional mechanism of federalism accommodate?
Ans X 1. Three

J 2. Two
X 3. Four
X 4. One

Question ID : 864407616
Status : Not Answered
Chosen Option : --

Q.2 The narrow zone of contact between the lithosphere, hydrosphere and atmosphere
where natural vegetation and wildlife exist is called the:

Ans x 1. geosphere
J 2. biosphere
X 3. troposphere

X 4. exosphere

Question ID : 864407596
Status : Answered
Chosen Option : 3

Q.3 Which economist developed international trade theory in 1817 based on comparative
advantage and specialisation?

Ans x 1. Paul Krugman
X 2. Milton Friedman
X 3. Gary Becker

o 4. David Ricardo

Question ID : 864407581
Status : Not Answered
Chosen Option : --

Q.4 Who became the Nawab of Bengal after the death of Alivardi Khan in 17567
Ans X" 1. Sujan Khan

#5 2. Murshid Quli Khan
o 3. Siraj ud-Daulah
25 4. Mir Jafar

Question ID : 864407602
Status : Not Answered
Chosen Option : --

Q.5 Which of the following metals in pure form has the highest melting point?
Ans X" 1 Gold

“ 2. Tungsten
x 3. Copper
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x 4. Platinum

Question ID : 864407594
Status : Answered
Chosen Option : 2

Q.6 Which Commission was appointed by the central government to examine issues
related to Centre-State relations?

Ans J 1. Sarkaria Commission
X 2. Mandal Commission
x 3. Nanavati Commission

x 4. Kothari Commission

Question ID : 864407618
Status : Not Answered
Chosen Option : --

Q.7 In which year did King George V assume the crown of India?
Ans & 11917

5 2.1906
25031923
W 4. 1911

Question ID : 864407606
Status : Answered
Chosen Option : 4

Q.8 Which river has tributaries by the name of Dri, Mathun, Talon, Eme, Ahi, Emra and
Awa?

Ans x 1. Kaveri

o 2. Dibang
75 3. Lohit

x 4. Godavari

Question ID : 864407600
Status : Not Answered
Chosen Option : --

Q.9 In which year was the 'National Food for Work Programme' launched in India?
Ans 5" 12002

75 2.1991
W 3.2004
< 4.2000

Question ID : 864407579
Status : Not Answered
Chosen Option : --

Q.10 Leshalaptu' is a folk dance of which Indian state?
Ans J 1. Nagaland

X 2. Kerala
X 3. Goa

X 4. Karnataka

[ |
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Question ID : 864407576
Status : Not Answered
Chosen Option : --

Q.11 Which of the following is the outer layer of the Earth that is made of plates which fit
together like a jigsaw puzzle?

Ans X" 1. Mesosphere
x 2. Asthenosphere

x 3. Biosphere

“ 4. Lithosphere

Question ID : 864407588
Status : Answered
Chosen Option : 2

Q.12 Which one of the following can be categorised as a solution?
Ans X 1. Salt

75 2. Diamond
“ 3. Sea Water

25 4. Coal

Question ID : 864407589
Status : Answered
Chosen Option : 1

Q.13 The pouch connected to the junction of the small intestine and the large intestine is
called:

Ans “ 1. caecum
x 2. coccyx
X 3. condyle

25 4. axilla

Question ID : 864407584
Status : Answered
Chosen Option : 1

Q.14 As per the Constitution of India, the subject of 'livestock and animal husbandry' is
included in the:

Ans X" 1. Residuary List
x 2. Concurrent List

#5 3. Union List

J 4. State List

Question ID : 864407617
Status : Answered
Chosen Option : 4

Q.15 Which of the following Indian cities is included in the list of 'UNESCO World Heritage
Sites'?

Ans X" 1. Srinagar
75 2. Hyderabad
#% 3. Murshidabad
o 4. Ahmedabad

Question ID : 864407575
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Status : Answered
Chosen Option : 4

Q.16 Who became the first female to be appointed to the ICC International Panel of Match
Referees in 20197

Ans 5" 1. Jhulan Goswami
W 2. GS Lakshmi
#% 3. Sudha Shah

75 4. Diana Edulj

Question ID : 864407619
Status : Answered
Chosen Option : 3

Q.17 In which of the following states is 'Me-Dam-Me-Phi' the festival of ancestor worship
celebrated?

Ans X" 1. Madhya Pradesh

“ 2. Assam
75 3. 0disha

75 4. Chhattisgarh

Question ID : 864407574
Status : Not Answered
Chosen Option : --

Q.18 Which mineral is also known as 'fool's gold'?
Ans 3" 1 Fluorite

W 2. Pyrite
X 3. Magnetite
X 4. Quartz

Question ID : 864407587
Status : Answered
Chosen Option : 2

Q.19 Abhijit Vinayak Banerjee was awarded the 2019 Nobel Memorial Prize in:
Ans X' 1. Literature

J 2. Economics
x 3. Chemistry

75 4. Physics

Question ID : 864407608
Status : Answered
Chosen Option : 2

Q.20 As of October 2019, how many nuclear power plants are present in India?

Ans X 1.9
K25
25311
v

Question ID : 864407599
Status : Answered
Chosen Option : 1
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Q.21 What kind of relationship exists between income and demand in case of normal
goods?

Ans x 1. There is no impact of income on demand.
( 2. There is a direct relationship.
X 3. There is an inverse relationship.

x 4. Sometimes there is a direct and sometimes an inverse relationship.

Question ID : 864407582
Status : Answered
Chosen Option : 1

Q.22 Which substance covers the root of the tooth?
Ans x 1. Dentin

X 2. Enamel
75 3.Pulp

( 4. Cementum

Question ID : 864407583
Status : Answered
Chosen Option : 2

Q.23 Which chemical law proposes that 'soft drinks and soda bottles are sealed under high
pressure to increase the solubility of CO,'?

Ans 3" 1 Dalton’s law
( 2. Henry's law
X 3. Ohm's law
x 4. Raoult’s law

Question ID : 864407591
Status : Answered
Chosen Option : 2

Q.24 Which Governor-General of India, in 1772, introduced two courts in each district — a
criminal court (faujdari adalat) and a civil court (diwani adalat)?

Ans " 1. Robert Clive
75 2. Richard Wellesley
J 3. Warren Hastings

75 4. Lord Dalhousie

Question ID : 864407605
Status : Answered
Chosen Option : 3

Q.25 As of October 2019, what is the maximum amount of loan granted by a scheduled

commercial bank that is covered under the Credit Guarantee Fund Scheme for Micro
and Small Enterprises?

Ans X" 13150 lakh
W 2. 200 lakh
< 3.350 lakh

£54.3100 lakh

Question ID : 864407578
Status : Answered
Chosen Option : 1
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Q.26 Who became the first Indian male squash player to enter the top 10 in the PSA world
rankings?

Ans x 1. Mahesh Mangaonkar
X 2. Ramit Tandon
x 3. Cyrus Poncha
( 4. Saurav Ghosal

Question ID : 864407620
Status : Not Answered
Chosen Option : --

Q.27 What is the primary function of the eccrine glands?

Ans X 1. To produce growth hormones
x 2. To produce colour of the skin
( 3. To produce sweat

X 4. To produce body hair

Question ID : 864407586
Status : Answered
Chosen Option : 3

Q.28 Who is first Indian rower to win a gold at the Asian Games in the year 2010?

Ans 5" 1. Sawarn Singh
x 2. Dattu Baban Bhokanal
J 3. Bajrang Lal Takhar

x 4. Dushyant Chauhan

Question ID : 864407622
Status : Not Answered
Chosen Option : --

Q.29 The breaking up and decay of exposed rocks by temperature changes, frost action,
plants, animals and human activity is called:

Ans X" 1. smelting

x 2. erosion
« 3. weathering

x 4. deforestation

Question ID : 864407595
Status : Answered
Chosen Option : 2

Q.30 Which explorer discovered a sea route to India in 1498?

Ans ( 1. Vasco da Gama
x 2. Marco Polo
x 3. Thomas Coryat

X 4. Megasthenes

Question ID : 864407601
Status : Answered
Chosen Option : 1

Q.31 Which one of the following is a distinctive characteristic of angiosperm?
Ans X 1. Thick bark
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( 2. Concealed seeds

X 3. Long leaf
75 4. Small roots

Question ID : 864407592
Status : Not Answered
Chosen Option : --

Q.32 'A Century Is Not Enough’ is an autobiography of:
Ans " 1. Rahul Dravid

X 2. Sachin Tendulkar
75 3. Anil Kumble

J 4. Sourav Ganguly

Question ID : 864407610
Status : Answered
Chosen Option : 4

Q.33 In which year was the first-ever motion to remove a Supreme Court
Justice signed, by 108 members of the Parliament?

Ans 5" 1 1996

5 2.1978
75 3.1984
W 4. 1991

Question ID : 864407613
Status : Answered
Chosen Option : 2

Q.34 Who is the author of the book 'The Free Voice: On Democracy, Culture and the
Nation'?

Ans " 1. Barkha Dutt
X 2. Rahul Kanwal
( 3. Ravish Kumar

x 4. Arnab Goswami

Question ID : 864407609
Status : Answered
Chosen Option : 3

Q.35 How many sites were chosen from India for the 2019 UNESCO Asia-Pacific Awards for
Cultural Heritage Conservation?

Ans 1 Five
W 2. Four
750 3. Two
X 4. Three

Question ID : 864407611
Status : Answered
Chosen Option : 2

Q.36 Which of the following is an international agreement between governments that aims
to ensure that international trade in specimens of wild animals and plants does not
threaten their survival?

Ans X 1 BRICS
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W 2. ciTES

75 3.GATS
/5 4. OPEC

Question ID : 864407597
Status : Answered
Chosen Option : 1

Q.37 Which article of the Constitution of India states that "all authorities, civil and judicial, in
the territory of India shall act in aid of the Supreme Court'?

Ans X" 1. Article 157
75 2. Article 137
75 3. Article 121

W 4. Article 144

Question ID : 864407614
Status : Answered
Chosen Option : 4

Q.38 Which mineral is popularly known as 'buried sunshine'?

Ans  of 1 Coal
x 2. Bauxite
x 3. Mica
X 4. Iron

Question ID : 864407598
Status : Answered
Chosen Option : 2

Q.39 'Ali-Aye-Ligang’, a spring festival, is associated with which state?
Ans 5" 1. Sikkim

75 2. Bihar
( 3. Assam
75 4. Odisha

Question ID : 864407573
Status : Not Answered
Chosen Option : --

Q.40 Who became the first player of Indian origin to play in an NBA game?
Ans X" 1. Palpreet Singh

X 2. Satnam Singh
o 3. Sim Bhullar

x 4. Amjyot Singh

Question ID : 864407621
Status : Not Answered
Chosen Option : --

Q.41 Which muscles in the skin contract to make the hairs on our skin stand up straight
(goose bumps) when we are cold or frightened ?

Ans X 1 Elastin
75 2. Epidermis

“ 3. Arrector pili
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x 4. Collagen

Question ID : 864407585
Status : Answered
Chosen Option : 2

Q.42 How many tiers are there in the Panchayati Raj structure?
Ans 1 Five

“ 2. Three
x 3. Two
x 4. Four

Question ID : 864407615
Status : Answered
Chosen Option : 2

Q.43 Edwin Lutyens and Herbert Baker are two architects credited to have designed the city
of:

Ans  of 1 New Delhi
#5 2. Chandigarh

x 3. Allahabad (Prayagraj)

x 4. Raipur

Question ID : 864407607
Status : Answered
Chosen Option : 2

Q.44 In the plant kingdom, 'Ferns and Fern allies' belong to which group?
Ans 5" 1 Bryophyta

x 2. Gymnosperms

#5 3. Thallophyta

J 4. Pteridophyta

Question ID : 864407593
Status : Not Answered
Chosen Option : --

Q.45 Who ruled Mysore under a subsidiary alliance with the British after the defeat of Tipu
Sultan at the Battle of Seringapatam?

Ans x 1. Gangas
x 2. Kadambas
X 3. Pandyans
J 4. Wodeyars

Question ID : 864407603
Status : Answered
Chosen Option : 1

Q.46 'Jnanpith Award', one of India's highest literary award, was conceived in the year:
Ans X' 1 1957

< 2.1969
o 3. 1961
5 41972

[ |
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Question ID : 864407612
Status : Answered
Chosen Option : 3

Q.47 Representatives of the Maratha Empire and the British East India Company signed the
'Treaty of Salbai' in which year?

Ans  of 1 1782
52,1769
X 31771
< 4.1758

Question ID : 864407604
Status : Not Answered
Chosen Option : --

Q.48 The physics phenomenon when, in polar regions like Alaska and Northern Canada, a
splendid display of colours is seen in the sky is called a/an:

Ans x 1. star's intrinsic luminosity
x 2. star shower
x 3. active galactic nucleus

“ 4. aurora borealis

Question ID : 864407590
Status : Answered
Chosen Option : 2

Q.49 What is India's ranking in the Global Economic Freedom index 2019?
Ans X 1. 83rd

< 2.62nd
5 3.55th
o 4. 79th

Question ID : 864407580
Status : Answered
Chosen Option : 2

Q.50 The 'Hemis Tsechu' festival commemorates the birth anniversary of:

Ans X" 1. Adi Shankaracharya
( 2. Guru Padmasambhava
X 3. Dalai Lama

X 4. Gautama Buddha

Question ID : 864407577
Status : Not Answered
Chosen Option : --

Section : Quantitative Aptitude

Q.1 At what percentage rate, compound interest compounded annually for a sum of 740,000, will amount to 244,100 in two
vears?

Ans J1_

X X
w N
N LY

( 1
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Question ID : 864407641
Status : Answered
Chosen Option : 1

Q.2 The height of a right circular cone is 35 cm and the area of its curved surface is four times the area of its base. What is

the volume of the cone (in 10~*m? and correct up to three decimal places)?

Ans X 13316

V2 2994
X 3 2.625
X 4.3.384
Question ID : 864407652
Status : Not Answered
Chosen Option : --
Q3 ) 46 8
‘What is the HCFof —,—,— ?
s'a’2s
Ans « ; 1
100
. 1
X 22
5
. 1
X 2.t
50
. 1
Xa 2
200

Question ID : 864407625
Status : Answered
Chosen Option : 3

Q.4 The given histogram represents the frequency distribution of average runs scored by 50 selected plavers from a district
in a local cricket tournament.

18

16
16
14
12
12
10
E 10
El
g s
= 5
6
4
F
2
2 __
o
105 205 30.5 40.5 50.5 60.5 70.5
Runs

How many players scored more than 30.5 on average?
Ans x 1. 28
V2 34
X 12
X4 16

Question ID : 864407671
Status : Answered
Chosen Option : 2

Q.5 While tabulation of marks scored in an examination by the students of a class, by mistake the marks scored by one
student got recorded as 93 in place of 63, and thereby the average marks increased by 0.5. What was the number of
students in the class?

Ans J1_ 60
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<220
X315
X 430

Question ID : 864407631
Status : Answered
Chosen Option : 1

Q6 If each side of an equilateral triangle is 12 cm, then its altitude is equal to:
Ans v 63 cm

& 2 346 cm

<3 642 cm

X 4 3y2 cm

Question ID : 864407658
Status : Answered
Chosen Option : 1

Q.7 Achord of the larger among two concentric circles is of length 10 em and it is tangent to the smaller circle. What is the

area (in cmZ) of the annular portion between the two circles?
Ans x 1. 10 T
voosm
X sq

X4t

2

Question ID : 864407657
Status : Not Answered
Chosen Option : --

Q8 Which one among the following is the smallest?
AtS o1 70T — /99

<2 4/201—-+/199

X 3 4/301—+/299

v 4 /401—+/399

Question ID : 864407623
Status : Answered
Chosen Option : 4

@9 What is the simplified value of:

Ans (1_ 1
X2 2
1

xs L

24

?{'4.l

12

113(313)5
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Question ID : 864407627
Status : Answered
Chosen Option : 1

Q.10 The given bar chart represents the average marks obtained in English (E) and vernacular (V) by the students of five
districts (D1, D2, D3, D4, D5) in a state at the secondary level examination of a particular vear (marks secured out of a
total of 100).

Average Marks in Exam
100

80
85
Lo 75
70 70
l I | I i
55
i
(1]
D1 D2 D3 D4 05
What is the average percentage of marks in English of the five districts?
Ans  of 1. 73%
X 2 67%

X 3. 75%
X 4. 68%

588588383

Question ID : 864407664
Status : Answered
Chosen Option : 1

Q.11 A pole stands vertically on a road, which goes in the north-south direction. P, Q are two points towards the north of the
pole. such that PQ = b, and the angles of elevation of the top of the pole at P, Q are o, 3 respectively. Then the height of
the pole is:

Ans x b

1

- tanf+tana
tanﬁ—tana

e at|3 coto

b tana

tanf

< 2
v
x4

Question ID : 864407662
Status : Not Answered
Chosen Option : --

Q.12 The given pie-chart represents the distribution of the percentage of sales of a particular brand of car from five
showrooms A, B, C, D and E during 2018. The total number of cars sold during that year from the five showrooms is
3000.

What is the total number of cars sold from the showrooms B and D?

Ans X1 1750

v 2 1550
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X 3. 1650
& 4. 1450

Question ID : 864407668
Status : Answered
Chosen Option : 2

Q.13 If the word PHOTOGRAPH is spelt with ‘F’ in place of ‘PH’, then what would be the percentage reduction in the
number of letters?

Ans  of 1. 20%
X2 18%
< 3 10%
X 4. 25%

Question ID : 864407634
Status : Answered
Chosen Option : 3

Q1% (4x%y — 6x%y% + 4xy® — y*) can be expressed as:
Ans o (x4 )¢ — x*

X2 (x+y)*-y*

X x—y)t—x*

v xt—x-y*

Question ID : 864407655
Status : Answered
Chosen Option : 2

Q.15 4 boys from school A and 6 boys from school B together can set up an exhibition in 5 days. which 5 boys from school A
and 10 boys from school C together can do in 4 days or 3 boys from school B and 4 boys from school C together can do
in 10 days. Then how many boys from school A can set up the exhibition in one day?

Ans X1- 60
v 2 40
X3 20
X 4 80

Question ID : 864407643
Status : Answered
Chosen Option : 3

Q.16 Pipes A and B can fill an empty tank in 6 and 8 hours respectively, while pipe C can empty the full tank in 10 hours. If
all three pipes are opened together, then the tank will get filled in:

Ans 4
F R 4£hrs
X2 Gihrs
5
(3- 551’11’5

b 3 T%hrs

Question ID : 864407644
Status : Answered
Chosen Option : 3
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Q.17 PQRS isa rectangle. T is a point on PQ such that RTQ is an isosceles triangle and PT = 5 QT. If the area of triangle

RTQ is 12 V3 sq.cm, then the area of the rectangle PQRS is:

Ans v 1441}@ sg.cm
< 2. 142 sg.cm

X3 13443 sq.cm
X 4 14243 sg.cm

Question ID : 864407659
Status : Answered
Chosen Option : 1

Q.18 A person has to travel a distance of 30 km. He finds that he has coveredz of the distance in 3 hours and 20 minutes.
what is his speed in km/h?

Ans x 1. 6
X254
X3 6.3
vi75

Question ID : 864407646
Status : Answered
Chosen Option : 4

Q.19 The given histogram represents the frequency distribution of average runs scored by 50 selected players from a district

.
=

-
&

"
=

-
5]

in a local cricket tournament.
10

16
12
8
6
5
4
a
2

: -
: |

10.5 20. 5 40.5 50.5 60.5 70.5

5 30.

Frequency
5

Runs

Which class of boundaries does the frequency of *10° correspond to?
Ans  of 1. 20.5 to 30.5
X 2 10510205
&< 3. 40.5 to 50.5
X 4. 30.5 to 40.5

Question ID : 864407670
Status : Answered
Chosen Option : 1

Q.20 1f(2x + 3y + 4)(2x + 3y — 5) is equivalent to (ax? + by? + 2hxy+ 2gx + 2fy + ¢), then what is the value
of {(g + f — c¢)/abh}?
Ans 37

X1 2L

216

Jzi

432
129

X 2

108
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X4£

216

Question ID : 864407654
Status : Not Answered
Chosen Option : --

Q.21 The given histogram represents the frequency distribution of average runs scored by 50 selected players from a district
in a local cricket tournament.

18

16
14
12

12

10

8

6
6
4
F3
2

2

. _

105 20.! 5 50.. 60.5 70.5

10
5 30.5 40.

Frequency

5

Runs

What is the overall average score of the 50 players?
Ans X' 1. 293

X 2 385

X3 326

v 4 37.1

Question ID : 864407672
Status : Answered
Chosen Option : 1

Q.22
Sudeep investedéof a certain sum at 5% p.a. for two years and % of the sum at 6% p.a. for two vears and the

remaining at 10% p.a. for two years. If the total interest received is ¥1,674, then the total sum invested is:

Ans 1. 313,000
W 2 212,000
< 3. 210,500
< 4. 12,500

Question ID : 864407640
Status : Answered
Chosen Option : 2

Q.23 After allowing a 10% discount on the marked price of an article, a dealer makes a profit of 5%. What is the marked
price, if the cost price of the article is Z300?

Ans X 1. 2400
X 2 3320
X 3. 2375
v 4 3350
Question ID : 864407633
Status : Answered
Chosen Option : 4
Q.24
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The monthly salary of a person was 250,000. He used to spend on three heads- personal and family expenses (E), taxes
(T), philanthropy (P), and rest were his savings. E was 50% of the income, T was 20% of E and P was 15% of T. When
his salary got raised by 40%, he maintained the percentage level of E, but T became 30% of E and P became 20% of T.
By what percentage is the new savings more or less than the earlier savings? (correct up to one decimal place)

Ans  of 1. 16.4% more
X 2. 8.2% less
< 3. 8.2% more
X 4 16.4% less

Question ID : 864407636
Status : Not Answered
Chosen Option : --

Q.25 The following pie-chart and table show the percentage distribution of farmers in 5 states A, B, C,D & Eofa

country who claimed insurance due to drought in the year 2017 and ratio of males to females of the number of

farmers in states, respectively.
Study the pie-chart and the table carefully and answer the following questions.

Note: Some data are missing in the pie-chart and table, if required in any question, find the missing data first and

then answer the question.

Total number of farmers who claimed insurance in the year 2017 = 2,64,000

6%

Ratio of Male to Female in the
farmers who claimed insurance in
2017

States

Male : Female
05:03
04:01
5:

03:02

m|o|6 o

The number of farmers who claimed insurance in state C exceeds the total number of farmers (who claimed
insurance) in state E and state A together by 5280. What is the percentage of farmers who claimed insurance
in state E?

Ans «'1, 10%
X2 15%

Question ID : 864407669
Status : Not Answered
Chosen Option : --

Q.26 A, B and C enter into a partnership with capitals in the ratio S H g : E.Aﬁer 8 months, A increases his share of capital by
25%. If at the end of the year, the total profit earned is ¥5.820, then the share of C in the profit is:

Ans 5 1. 32,050
X 2 32,350
X 3. 32,450
4 22,250

Question ID : 864407639

Not Attempted and
Marked For Review

Chosen Option : --

Status :
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Q27 (320+342+530+915)+ (20 + 22 —x+ 18) = 43, then the value of x is:
Ans x1. 15

V2 11

X 3. 26

X 4 23

Question ID : 864407629
Status : Answered
Chosen Option : 2

Q.28 Out of the two bar graphs provided below, one shows the amounts (2 in Lakhs) invested by a company in

purchasing raw materials over the years and the other shows the values (2 in Lakhs) of finished goods sold by the

company over the years.
Amount invested in Raw Materials (2 in Lakhs)

600 525

420
450
L

300 s
120

TinLakhs

150 4

1995 1996 1997 1998 1999 2000

Years

Value of Sales of Finished Goods ( in Lakhs)

800
600

Tin Lakhs

1995 1996 1997 1998 1999 2000

Years

‘What was the difference between the average amount invested in raw materials during 1997 to 2000 and the
average value of sales of finished goods during the same period 1997 to 20007

Ans  of 1. 77.5 lakhs
X 2.70.5 lakhs
& 3. 76.5 lakhs
X 4. 87.5 lakhs

Question ID : 864407666
Status : Answered
Chosen Option : 1

Q.29
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The given bar chart presents the average marks obtained in English (E) and vernacular (V) by the students of five
districts (D1, D2, D3, D4, DS) in a state at the secondary level examination of a particular year (marks secured out of a
total of 100).

Average Marks in Exam
55 S0
P . s e
70 I - - v
55
I i
(1]
(118 D2 D3 D4 D5

What is the difference between the average percentage of marks in vernacular of the districts (D1, D2, D4) and (D3,
Ds)?

Ans X 1. 1.7%
X2 11.3%
V'3 22.5%
X 4. 3.5%

=
8 8

88

5888

Question ID : 864407665
Status : Answered
Chosen Option : 3

Q30 What is the simplified value of

1 15 2 1 3+4
Loy | %22 2 S MR
4—2 16 4 3344
1
§+2
Ans 5
13
P
13
P
1z
’ 6
X2
13

Question ID : 864407628
Status : Answered
Chosen Option : 4

Q.31 Which is the largest six digit number, which when divided by 12, 15, 20, 24 and 30, leaves the remainders 8, 11, 16, 20
and 26 respectively.

Ans  of 1999956
& 2. 999982
& 3. 999960
& 4999964

Question ID : 864407626
Status : Answered
Chosen Option : 4

Q.32 1f the six-digit number 479 xyz is exactly divisible by 7, 11 and 13. then {(y + z) + x} is equal to:
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Ans (1_ 4
K2 =

X~
xa 2

Question ID : 864407624
Status : Answered
Chosen Option : 1

Ans X 1. 7.62x1072
<2 805%x103
V'3 693x1073
K4 425%1072

What is its volume in m® if T = ??

Q.33 60 discs each of diameter 21 cm and thickness 3 cm are stacked one above the other to form a right circular cylinder.

Question ID : 864407650
Status : Not Answered
Chosen Option : --

Ans  of 1. 0.2
& 2. 0.08
< 3 0.8
X 4 0.64

3% What is (0.08% of 0.008% of 8)1/° 2

Question ID : 864407635
Status : Answered
Chosen Option : 1

Ans  of 1. 31,20,000
X 2 %1,10,700
3. 21,20,200
4. %1,20,500

Q.35 An article was sold for 298,496 after providing three successive discounts of 10%, 5% and 4% respectively on the
marked price. What was the marked price?

Question ID : 864407632
Status : Answered
Chosen Option : 3

Q.36
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The given pie-chart represents the distribution of the percentage of sales of a particular brand of car from five
showrooms A, B, C, D and E during 2018. The total number of cars sold during that year from the five showrooms is
5000.

What is the central angle (nearest to 0.1 degree) of the sector corresponding to the sales from the showroom C?
Ans X 1. 48.6
X 2. 60.5
X 3.56.7
V4 504

Question ID : 864407667
Status : Answered
Chosen Option : 4

Q37 10 < 08 < 90°, and sec’®70 + cos'%70 = 2, then, ( sec + cosb) is equal to:

Ans (1_ 2

Question ID : 864407661
Status : Answered
Chosen Option : 1
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Q.38 Aclock tower stands at the crossing of two roads which peint in the north-south and the east-west directions. P, Q, R
and S are points on the roads due north, east, south and west respectively, where the angles of elevation of the top of the

2
tower are respectively, o, B,y and 8. Then (%) is equal to:

Ans tan® a+tan®p

p

" tanZy+tan?§

J 9 cot? a+cot?f
" cot?y+cot?§

cot® a+cot®d

p g}

cot? B+cot?y

tan® a+tan® &

<4

tan?B+tan?y

Question ID : 864407663
Status : Not Answered
Chosen Option : --

Q.39 1f0 =8 < 90° and sin(28+ 50°) = cos (48 + 16°), then what is the value of 8 (in degrees)?
Ans x 1. 10°

X2 g°

W3 4

X 4 12°

f
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Question ID : 864407660
Status : Answered
Chosen Option : 3

Q.40 Acylinder 84 cm long is made of steel. Its external and internal diameters are 10 cm and 8 cm respectively. What is the

volume of the steel in the cylinder (in 10™*m? and correct up to three decimal places)?

Ans X1 2,112
X 2 9.504
'3 2376
X 4 4,752

Question ID : 864407651
Status : Not Answered
Chosen Option : --

Q.41 If 10 men can complete a piece of work in 12 days by working 7 hours a day, then in how many days can 14 men do the
same work by working 6 hours a day?

Ans XL 15
X2 16
V'3 10
X412

Question ID : 864407642
Status : Answered
Chosen Option : 3

Q.42 Ipurchase 100 kg of tea and sell it for a profit to the extent of what I would have paid for 40 kg. What is my profit
percentage?

Ans X 1. 30%
X 2. 20%
X 3. 25%
v 4 40%

Question ID : 864407637
Status : Answered
Chosen Option : 4

Q.43 1naAABC, angle BAC = 90°. If BC =25 cm, then what is the length of the median AD?

Ans X' 1. 10 cm

- 12.5cm
- 14.5 cm

X 4 24cm

Question ID : 864407656
Status : Answered
Chosen Option : 2

Q.44 The two parallel sides of a trapezium are 27 cm and 13 em respectively. If the height of the trapezium is 8 cm, then what
7.

is its area in m=?
Ans X 1. (0.032
X 2. 0.056
v 3 0.016

X 4032

[ ]
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Question ID : 864407648
Status : Not Answered
Chosen Option : --

Q.45 The ratio of two numbers is 3 : 5. If eight is added to the first, and seven to the second, then the ratio becomes 2 : 3.
What will be the ratio become if six is added to each?

Ans o 1. 9:14
X25:7
X35:0
X47:9

Question ID : 864407638
Status : Answered
Chosen Option : 1

Q.46 The average run rate of a cricket team during the first 20 overs is 4.5. What should be the asking rate per over for the
next 30 overs, if it has to chase a target of 282 runs in total?

Ans x 1. 6.3
X2 6.0
V3 64
X4 6.8

Question ID : 864407630
Status : Answered
Chosen Option : 3

Q.47 A wheel has diameter 84 cm, then how far does the wheel go (in metres) in 16 revolutions? (Take T = ?)

Ans  of 1. 42.24
X2 21.12
X 3. 36.28
X 4 2748

Question ID : 864407649
Status : Not Answered
Chosen Option : --

Q.48 The speed of two railway engines is in the ratio 5 : 4. If they move on parallel tracks in the same direction and if the
slower engine is ahead of the faster engine by 8 km when the latter starts, then how far will the faster engine have to

travel before it overtakes the slower one?

Ans XL 32
X2 48
V'3 40
X 4 36

Question ID : 864407647
Status : Answered
Chosen Option : 3

Q49 WWhat is the simplified value of:

603 -65)
! X i S R
8 y y
Ans X

X1z

¥

2
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X
2__
X2
X
3o
4x

x4 —

¥

Question ID : 864407653
Status : Answered
Chosen Option : 3
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Q.50 Three pipes. A, B, C can fill an empty cistern in 2, 3 and 6 hours respectively. They are opened together. After what time
should B be closed, so that the cistern gets filled in exactly lhr 15 min?

Ans 1. 20 min
X 2. 45 min
« 3 30 min
X 4. 15 min

Question ID : 864407645
Status : Answered
Chosen Option : 3

Section : English Comprehension

Q.1 Select the most appropriate synonym of the given word.
FASCINATING
Ans 5" 1_tiring
X 2. boring
J 3. appealing

X 4. stupid

Question ID : 864407543
Status : Answered
Chosen Option : 3

Q.2 Select the most appropriate synonym of the given word.

ADEQUATE
Ans ( 1. sufficient

25 2. unfit
X 3. inept
X 4. meagre

Question ID : 864407542
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

| had seen the magic shop from afar several times. | had passed (1)
shop window of (2) little objects, magic balls, magic hens, wonderful cones, magic
dolls and all those (3) of things. But never had | thought of going in (4) one
day, Gip hauled me by my finger - right (5) to the window.

once or twice, a

SubQuestion No : 3
Q.3 Select the most appropriate option to fill in blank No.1.
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Ans
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75 1. these
x 2. them
o 3t
75 4. this

Question ID : 864407537
Status : Answered
Chosen Option : 3

Q.4
Ans

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

| had seen the magic shop from afar several times. | had passed (1) once or twice, a
shop window of (2) little objects, magic balls, magic hens, wonderful cones, magic
dolls and all those (3) of things. But never had | thought of going in (4) one
day, Gip hauled me by my finger - right (5) to the window.

SubQuestion No : 4
Select the most appropriate option to fill in blank No.2.

75 1. allured
x 2. allures
o 3. alluring
x 4. allure

Question ID : 864407538
Status : Answered
Chosen Option : 3

Q.5
Ans

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

| had seen the magic shop from afar several times. | had passed (1) once or twice, a
shop window of (2) little objects, magic balls, magic hens, wonderful cones, magic
dolls and all those (3) of things. But never had | thought of going in (4) one
day, Gip hauled me by my finger - right (5) to the window.

SubQuestion No : 5
Select the most appropriate option to fill in blank No.3.

75 1. pattern
W 2 sort

75 3.shape
x 4. design

Question ID : 864407539
Status : Answered
Chosen Option : 2

Q.6
Ans

https://ssc.digialm.com//per/g27/pub/2207/touchstone/AssessmentQPHTMLMode1//2207019322/2207019322S1D10656/15763275923527222/2201034460. ..

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

| had seen the magic shop from afar several times. | had passed (1) once or twice, a
shop window of (2) little objects, magic balls, magic hens, wonderful cones, magic
dolls and all those (3) of things. But never had | thought of going in (4) one
day, Gip hauled me by my finger - right (5) to the window.

SubQuestion No : 6
Select the most appropriate option to fill in blank No.4.

x 1. since
o 2. until
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75 3. while
x 4. after

Question ID : 864407540
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

| had seen the magic shop from afar several times. | had passed (1) once or twice, a
shop window of (2) little objects, magic balls, magic hens, wonderful cones, magic
dolls and all those (3) of things. But never had | thought of going in (4) one
day, Gip hauled me by my finger - right (5) to the window.

SubQuestion No : 7
Q.7 Select the most appropriate option to fill in blank No.5.

Ans  of 1 up
25 2.in
5 3. out
x 4. down

Question ID : 864407541
Status : Answered
Chosen Option : 1

Q.8 Select the option that can be used as a one-word substitute for the given group of
words.

Words written on a tombstone in the memory of the person who has died
Ans X 1. epilogue

( 2. epitaph
X 3. stela

x 4. prologue

Question ID : 864407560
Status : Answered
Chosen Option : 2

Q.9 Select the most appropriate ANTONYM of the given word.

INTENTIONAL
Ans X" 1 voluntary

J 2. accidental

x 3. designed
X 4. calculated

Question ID : 864407551
Status : Answered
Chosen Option : 2

Q.10 Select the most appropriate word to fill in the blank.

This is the girl
Ans & 1 which

x 2. whom
W 3. who
25 4. that
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Question ID : 864407532
Status : Answered
Chosen Option : 3

Q.11 Select the most appropriate word to fill in the blank.

If only we a light! It is depressing to wait in the dark.
Ans X 1. are having

X 2. have
W 3. had

X 4. have had

Question ID : 864407535
Status : Answered
Chosen Option : 3

Q.12 Select the most appropriate word to fill in the blank.

We haven't been to Gangotri almost ten years.

Ans  of 1 for
25 2. from
x 3.to
75 4. since

Question ID : 864407534
Status : Answered
Chosen Option : 1

Q.13 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select 'No substitution’.

The authorities are looked on the matter.

Ans X" 1 are looking on the matter
W 2. are looking into the matter
x 3. are looked into the matter

X 4. No substitution

Question ID : 864407527
Status : Answered
Chosen Option : 2

Q.14 Identify the segment in the sentence which contains the grammatical error.

A large section of a hotel under construction collapse in New Orleans last Saturday.
Ans X 1. A large section of a hotel

( 2. collapse in New Orleans
X 3. last Saturday

x 4. under construction

Question ID : 864407523
Status : Answered
Chosen Option : 2

Q.15 Select the most appropriate synonym of the given word.
CONTAMINATE
Ans X 1 sanctify
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x 2. purify
“ 3. pollute
x 4. cleanse

Question ID : 864407544
Status : Answered
Chosen Option : 3

Q.16 Select the INCORRECTLY spelt word.
Ans 3 1 jumble

5 2. jovial
J 3. journy
x 4. junior

Question ID : 864407562
Status : Answered
Chosen Option : 3

Q.17 Select the most appropriate ANTONYM of the given word.

LAMENT
Ans X" 1 bemoan

x 2. appeal
75 3. bleed
( 4. celebrate

Question ID : 864407548
Status : Answered
Chosen Option : 2

Q.18 Select the most appropriate meaning of the underlined idiom in the given sentence.

Our PM is received with open arms wherever he goes.
Ans " 1. Honourably

x 2. Promptly

( 3. Warmly

x 4. Harmoniously

Question ID : 864407556
Status : Answered
Chosen Option : 3

Q.19 Select the most appropriate ANTONYM of the given word.
ENRAGED
Ans X" 1 livid
X 2. aggravated

J 3. pleased

X 4. infuriated

Question ID : 864407550
Status : Answered
Chosen Option : 3

Q.20 In the sentence identify the segment which contains the grammatical error.
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Across his morning walk on a beach in Mamallapuram, Prime Minister Modi was seen
picking up plastic litter, bottles, and other items.

Ans ( 1. Across his morning walk
X 2. picking up plastic litter
x 3. on a beach in Mamallapuram

X 4. Prime Minister Modi was seen

Question ID : 864407524
Status : Answered
Chosen Option : 1

Q.21 Select the most appropriate word to fill in the blank.

He obtained 80% marks in Science in High School. He has qualified the science
stream in plus two.

Ans  of 1 for
X 2. at
X 3.to
< 4

Question ID : 864407531
Status : Answered
Chosen Option : 1

Q.22 Select the option that can be used as a one-word substitute for the given group of
words

A small building or room used for Christian worship in a school, prison, hospital or
large private house.

Ans X' 1 cathedral

X 2. church
x 3. congregation

J 4. chapel

Question ID : 864407557
Status : Answered
Chosen Option : 4

Q.23 Select the INCORRECTLY spelt word.
Ans  of 1 redius

x 2. realm

x 3. resemble

75 4. reliable

Question ID : 864407565
Status : Answered
Chosen Option : 1

Q.24 Select the most appropriate ANTONYM of the given word.

APPLAUD
Ans J 1. denounce

X 2. magnify

x 3. commend

X 4. approve

[ Question ID : 864407547 ]
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Status : Answered
Chosen Option : 1

Q.25 Select the most appropriate word to fill in the blank.

Milk is than any other food.
Ans ( 1. more nourishing

X 2. nourishing
x 3. most nourishing

X 4. as nourishing

Question ID : 864407533
Status : Answered
Chosen Option : 1

Q.26 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select 'No substitution'.

| enjoy to watch a good detective movie.
Ans X 1. watch

x 2. watched

X 3. No substitution

J 4. watching

Question ID : 864407529
Status : Answered
Chosen Option : 4

Q.27 Select the INCORRECTLY spelt word.
Ans 5" 1 labour

X 2. lantern

X 3. literature

( 4. laboratery

Question ID : 864407563
Status : Answered
Chosen Option : 4

Q.28 Select the most appropriate synonym of the given word.
SUBSEQUENT
Ans & 1 prior
x 2. preceding
X 3. antecedent

J 4. consecutive

Question ID : 864407546
Status : Answered
Chosen Option : 2

Q.29 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select 'No substitution’.

| couldn't got some sleep because the people in the next room were talking very
loudly.

Ans x 1. couldn't get some sleep

X 2. couldn't got any sleep
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x 3. No substitution

J 4. couldn't get any sleep

Question ID : 864407530
Status : Answered
Chosen Option : 4

Q.30 Select the INCORRECTLY spelt word.
Ans X" 1 mysterious

X 2. ridiculous
J 3. mischivious
X 4. humorous

Question ID : 864407566
Status : Answered
Chosen Option : 3

Q.31 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select 'No substitution’.

Rahul thinks that this is quite the cheap restaurant.
Ans X" 150 the cheap

X 2. No substitution
J 3. quite a cheap

X 4. so a cheap

Question ID : 864407526
Status : Answered
Chosen Option : 3

Q.32 Select the INCORRECTLY spelt word.
Ans 3 1 pillion

X 2. pioneer

x 3. pigeon

o 4. puddel

Question ID : 864407564
Status : Answered
Chosen Option : 1

Q.33 Identify the segment in the sentence which contains the grammatical error. If there is
no error, select 'No error’

We watched the workmen to repair the tiles of the kitchen.
Ans X 1. We watched the workmen

x 2. No error

X 3. of the kitchen

J 4. to repair the tiles

Question ID : 864407522
Status : Answered
Chosen Option : 4

Q.34 Select the option that can be used as a one-word substitute for the given group of
words.

A person who believes that war and violence are unjustifiable
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Ans ( 1. pacifist
X 2. anarchist
x 3. optimist

X 4. pessimist

Question ID : 864407558
Status : Answered
Chosen Option : 1

Q.35 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select 'No substitution'.

The tree was uprooted by the storm last evening, isn't it?
Ans X" 1 didn'tit

J 2. wasn't it
X 3. was it

x 4. No substitution

Question ID : 864407528
Status : Answered
Chosen Option : 2

Q.36 Select the most appropriate meaning of the underlined idiom in the given sentence.

In spite of her severe accident she took heart and moved forward.
Ans ( 1. Gathered courage

X 2. Felt depressed
x 3. Overcame problems

X 4. Acted promptly

Question ID : 864407553
Status : Answered
Chosen Option : 3

Q.37 Select the most appropriate synonym of the given word.

TRANQUIL
Ans X 1. nervous

x 2. agitated
( 3. calm
25 4. wild

Question ID : 864407545
Status : Answered
Chosen Option : 3

Q.38 Select the most appropriate ANTONYM of the given word.

INFINITE
Ans  of 1 limited

X 2. vast
x 3. eternal

X 4. boundless

Question ID : 864407549
Status : Answered
Chosen Option : 1
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Q.39 Select the option that can be used as a one-word substitute for the given group of
words.

A person who can endure pain or hardship without showing his feelings or
complaining

Ans X 1 agnostic
W 2. stoic
x 3. ascetic
/5 4. pedant

Question ID : 864407561
Status : Answered
Chosen Option : 2

Q.40 Select the option that can be used as a one-word substitute for the given group of
words.

A person who held a job or office before the current holder
Ans ( 1. predecessor

X 2. ancestor
x 3. successor

X 4. descendant

Question ID : 864407559
Status : Answered
Chosen Option : 1

Q.41 Select the most appropriate meaning of the underlined idiom in the given sentence.

Trying to find my lost ring in the college is like looking for a needle in a haystack.

Ans J 1. Doing something impossible

x 2. Making a big deal of a small thing
X 3. Doing something secretly

x 4. Doing something unimportant

Question ID : 864407555
Status : Answered
Chosen Option : 1

Q.42 In the sentence identify the segment which contains the grammatical error.

'Plogging' is an international trend, in which someone picking up trash while jogging
or brisk walking.

Ans X" 1. in which someone
( 2. picking up trash
x 3. 'Plogging' is an international trend

X 4. while jogging or brisk walking

Question ID : 864407525
Status : Answered
Chosen Option : 2

Q.43 Identify the segment in the sentence which contains the grammatical error. If there is
no error, select 'No error’

In about two weeks our holidays will start.
Ans ( 1. No error

X 2. In about two weeks
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25 3. will start

x 4. our holidays

Question ID : 864407521
Status : Answered
Chosen Option : 1

Ans

Q.44 Select the most appropriate meaning of the underlined idiom in the given sentence.

Off and on | take a break from my hectic schedule to refresh myself.

x 1. Rarely
75 2. seldom

x 3. Immediately

o 4. Periodically

Question ID : 864407552
Status : Answered
Chosen Option : 4

Ans

Comprehension:
Read the following passage and answer the questions given after it.

The excitement of bird watchers on spotting a particular species for the very first time is
unparalleled. With eyes shining and pride bursting, they exclaim, “I had a lifer today”, or “It
was a lifer for me”. For the longest time, | couldn’t fathom what all the fuss was about. | mean,
at some point in their lives, even a crow or mynah would have been a lifer — seen for the very
first time. So, here, I've done a bit of jugaad with the term and define it as a bird that you see
maybe (but not necessarily) for the first time, but which has made a lasting, life-changing
impact on you. Then | recalled some of my own “lifers”.

Number 1 is the little coppersmith barbet. The first bird | saw through brand new, big and
powerful binoculars — and it was solely responsible for my getting interested in birds. The
fellow looked like a tubby little clown with hiccups and that just blew me away.

| will never forget the first time | saw grey hornbills aeons ago: over sullen grey skies in the
Borivali National Park (now called Sanjay Gandhi National Park) — squealing as they flew
high up across the sky. They looked as if they had just left Jurassic Park. Or, for that matter,
their larger, more glamorous, cousins — Great pied hornbills. Tramping through a streambed
in Kalagarh (near Corbett), we suddenly heard this rasping, whooshing, sound. Up there, in
the clear blue, were six-seven huge black-and-white birds with colossal yellow beaks flying in
tandem across the clear blue sky, their wings making the rasping sound.

Say “paradise flycatcher” and a birder’s eyes will begin to glint: “Where? When? Will it be
there now?” are questions that will be shot out like machine-gun bullets. The first time | saw a
full grown milk-white-and-glossy-black male, with its glamorous 18-inch streamer tail, was at
the Sultanpur National Park in Haryana. But | remember better the flycatchers, that made me
run around in a tea garden in Palampur, teasingly whistling at me from one end to the other.
The nesting pair in Naukuchiatal was more accommodating except that | had to stand knee-
deep in the hotel’s garbage dump to get a good view of them flitting to and fro the gully
nearby. To compensate, one actually flew nearly down to my feet to snatch up a bluebottle |
had missed.

Of course, there have been rarities: the highlight of the regular Bharatpur (the Keoladeo
National Park) visits was the darshan of VIP Siberian cranes. Then they stopped coming,
which was a first indication of their slow extinction — even if it was just “local” to our area. The
gloriously uppity Great Indian bustards in the Karera Sanctuary (Madhya Pradesh) were
another unforgettable sighting. The sheer disdain with which they flounced away from our
howling, jolting jeep and took to their wings was a lesson in being put in your place. Now, not
only does the sanctuary not exist anymore but those magnificent muscular birds are crashing
to total extinction.

SubQuestion No : 45

Q.45 According to the passage which sanctuary does NOT exist anymore?

x 1. Keoladeo National Park, Bharatpur
x 2. Sultanpur National Park, Haryana
x 3. Sanjay Gandhi National Park

\’ 4. Karera Sanctuary, Madhya Pradesh

Question ID : 864407572
Status : Answered
Chosen Option : 4
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Comprehension:

Read the following passage and answer the questions given after it.

The excitement of bird watchers on spotting a particular species for the very first time is
unparalleled. With eyes shining and pride bursting, they exclaim, “I had a lifer today”, or “It
was a lifer for me”. For the longest time, | couldn’t fathom what all the fuss was about. | mean,
at some point in their lives, even a crow or mynah would have been a lifer — seen for the very
first time. So, here, I've done a bit of jugaad with the term and define it as a bird that you see
maybe (but not necessarily) for the first time, but which has made a lasting, life-changing
impact on you. Then | recalled some of my own “lifers”.

Number 1 is the little coppersmith barbet. The first bird | saw through brand new, big and
powerful binoculars — and it was solely responsible for my getting interested in birds. The
fellow looked like a tubby little clown with hiccups and that just blew me away.

| will never forget the first time | saw grey hornbills aeons ago: over sullen grey skies in the
Borivali National Park (now called Sanjay Gandhi National Park) — squealing as they flew
high up across the sky. They looked as if they had just left Jurassic Park. Or, for that matter,
their larger, more glamorous, cousins — Great pied hornbills. Tramping through a streambed
in Kalagarh (near Corbett), we suddenly heard this rasping, whooshing, sound. Up there, in
the clear blue, were six-seven huge black-and-white birds with colossal yellow beaks flying in
tandem across the clear blue sky, their wings making the rasping sound.

Say “paradise flycatcher” and a birder’s eyes will begin to glint: “Where? When? Will it be
there now?” are questions that will be shot out like machine-gun bullets. The first time | saw a
full grown milk-white-and-glossy-black male, with its glamorous 18-inch streamer tail, was at
the Sultanpur National Park in Haryana. But | remember better the flycatchers, that made me
run around in a tea garden in Palampur, teasingly whistling at me from one end to the other.
The nesting pair in Naukuchiatal was more accommodating except that | had to stand knee-
deep in the hotel’'s garbage dump to get a good view of them flitting to and fro the gully
nearby. To compensate, one actually flew nearly down to my feet to snatch up a bluebottle |
had missed.

Of course, there have been rarities: the highlight of the regular Bharatpur (the Keoladeo
National Park) visits was the darshan of VIP Siberian cranes. Then they stopped coming,
which was a first indication of their slow extinction — even if it was just “local” to our area. The
gloriously uppity Great Indian bustards in the Karera Sanctuary (Madhya Pradesh) were
another unforgettable sighting. The sheer disdain with which they flounced away from our
howling, jolting jeep and took to their wings was a lesson in being put in your place. Now, not
only does the sanctuary not exist anymore but those magnificent muscular birds are crashing
to total extinction.

SubQuestion No : 46
Which pair of birds did the author see in Naukuchiatal?

2{ 1. Coppersmith barbet
{ 2. Paradise flycatcher
Z< 3. Hombill

?{ 4. Great Indian bustard

Question ID : 864407569
Status : Answered
Chosen Option : 2
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Comprehension:
Read the following passage and answer the questions given after it.

The excitement of bird watchers on spotting a particular species for the very first time is
unparalleled. With eyes shining and pride bursting, they exclaim, “I had a lifer today”, or “It
was a lifer for me”. For the longest time, | couldn’t fathom what all the fuss was about. | mean,
at some point in their lives, even a crow or mynah would have been a lifer — seen for the very
first time. So, here, I've done a bit of jugaad with the term and define it as a bird that you see
maybe (but not necessarily) for the first time, but which has made a lasting, life-changing
impact on you. Then | recalled some of my own “lifers”.

Number 1 is the little coppersmith barbet. The first bird | saw through brand new, big and
powerful binoculars — and it was solely responsible for my getting interested in birds. The
fellow looked like a tubby little clown with hiccups and that just blew me away.

| will never forget the first time | saw grey hornbills aeons ago: over sullen grey skies in the
Borivali National Park (now called Sanjay Gandhi National Park) — squealing as they flew
high up across the sky. They looked as if they had just left Jurassic Park. Or, for that matter,
their larger, more glamorous, cousins — Great pied hornbills. Tramping through a streambed
in Kalagarh (near Corbett), we suddenly heard this rasping, whooshing, sound. Up there, in
the clear blue, were six-seven huge black-and-white birds with colossal yellow beaks flying in
tandem across the clear blue sky, their wings making the rasping sound.

Say “paradise flycatcher” and a birder’s eyes will begin to glint: “Where? When? Will it be
there now?” are questions that will be shot out like machine-gun bullets. The first time | saw a
full grown milk-white-and-glossy-black male, with its glamorous 18-inch streamer tail, was at
the Sultanpur National Park in Haryana. But | remember better the flycatchers, that made me
run around in a tea garden in Palampur, teasingly whistling at me from one end to the other.
The nesting pair in Naukuchiatal was more accommodating except that | had to stand knee-
deep in the hotel’s garbage dump to get a good view of them flitting to and fro the gully
nearby. To compensate, one actually flew nearly down to my feet to snatch up a bluebottle |
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had missed.

Of course, there have been rarities: the highlight of the regular Bharatpur (the Keoladeo
National Park) visits was the darshan of VIP Siberian cranes. Then they stopped coming,
which was a first indication of their slow extinction — even if it was just “local” to our area. The
gloriously uppity Great Indian bustards in the Karera Sanctuary (Madhya Pradesh) were
another unforgettable sighting. The sheer disdain with which they flounced away from our
howling, jolting jeep and took to their wings was a lesson in being put in your place. Now, not
only does the sanctuary not exist anymore but those magnificent muscular birds are crashing
to total extinction.

SubQuestion No : 47
Which bird is black and white with a huge yellow beak?

x 1. Siberian crane
K 2. Paradise flycatcher
75 3. Grey hornbil

o 4. Great pied hornbill

Question ID : 864407571
Status : Answered
Chosen Option : 3

Q.48
Ans

Comprehension:

Read the following passage and answer the questions given after it.

The excitement of bird watchers on spotting a particular species for the very first time is
unparalleled. With eyes shining and pride bursting, they exclaim, “I had a lifer today”, or “It
was a lifer for me”. For the longest time, | couldn’t fathom what all the fuss was about. | mean,
at some point in their lives, even a crow or mynah would have been a lifer — seen for the very
first time. So, here, I've done a bit of jugaad with the term and define it as a bird that you see
maybe (but not necessarily) for the first time, but which has made a lasting, life-changing
impact on you. Then | recalled some of my own “lifers”.

Number 1 is the little coppersmith barbet. The first bird | saw through brand new, big and
powerful binoculars — and it was solely responsible for my getting interested in birds. The
fellow looked like a tubby little clown with hiccups and that just blew me away.

| will never forget the first time | saw grey hornbills aeons ago: over sullen grey skies in the
Borivali National Park (now called Sanjay Gandhi National Park) — squealing as they flew
high up across the sky. They looked as if they had just left Jurassic Park. Or, for that matter,
their larger, more glamorous, cousins — Great pied hornbills. Tramping through a streambed
in Kalagarh (near Corbett), we suddenly heard this rasping, whooshing, sound. Up there, in
the clear blue, were six-seven huge black-and-white birds with colossal yellow beaks flying in
tandem across the clear blue sky, their wings making the rasping sound.

Say “paradise flycatcher” and a birder’s eyes will begin to glint: “Where? When? Will it be
there now?” are questions that will be shot out like machine-gun bullets. The first time | saw a
full grown milk-white-and-glossy-black male, with its glamorous 18-inch streamer tail, was at
the Sultanpur National Park in Haryana. But | remember better the flycatchers, that made me
run around in a tea garden in Palampur, teasingly whistling at me from one end to the other.
The nesting pair in Naukuchiatal was more accommodating except that | had to stand knee-
deep in the hotel’'s garbage dump to get a good view of them flitting to and fro the gully
nearby. To compensate, one actually flew nearly down to my feet to snatch up a bluebottle |
had missed.

Of course, there have been rarities: the highlight of the regular Bharatpur (the Keoladeo
National Park) visits was the darshan of VIP Siberian cranes. Then they stopped coming,
which was a first indication of their slow extinction — even if it was just “local” to our area. The
gloriously uppity Great Indian bustards in the Karera Sanctuary (Madhya Pradesh) were
another unforgettable sighting. The sheer disdain with which they flounced away from our
howling, jolting jeep and took to their wings was a lesson in being put in your place. Now, not
only does the sanctuary not exist anymore but those magnificent muscular birds are crashing
to total extinction.

SubQuestion No : 48
What does the word 'lifer' mean for the author?

K 1. A bird that you see for the first time
x 2. A bird which is becoming extinct
\f 3. A bird which makes a life-changing impact on you

#% 4. Abird that you love

Question ID : 864407568
Status : Answered
Chosen Option : 1
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Ans

Read the following passage and answer the questions given after it.

The excitement of bird watchers on spotting a particular species for the very first time is
unparalleled. With eyes shining and pride bursting, they exclaim, “I had a lifer today”, or “It
was a lifer for me”. For the longest time, | couldn’t fathom what all the fuss was about. | mean,
at some point in their lives, even a crow or mynah would have been a lifer — seen for the very
first time. So, here, I've done a bit of jugaad with the term and define it as a bird that you see
maybe (but not necessarily) for the first time, but which has made a lasting, life-changing
impact on you. Then | recalled some of my own “lifers”.

Number 1 is the little coppersmith barbet. The first bird | saw through brand new, big and
powerful binoculars — and it was solely responsible for my getting interested in birds. The
fellow looked like a tubby little clown with hiccups and that just blew me away.

| will never forget the first time | saw grey hornbills aeons ago: over sullen grey skies in the
Borivali National Park (now called Sanjay Gandhi National Park) — squealing as they flew
high up across the sky. They looked as if they had just left Jurassic Park. Or, for that matter,
their larger, more glamorous, cousins — Great pied hornbills. Tramping through a streambed
in Kalagarh (near Corbett), we suddenly heard this rasping, whooshing, sound. Up there, in
the clear blue, were six-seven huge black-and-white birds with colossal yellow beaks flying in
tandem across the clear blue sky, their wings making the rasping sound.

Say “paradise flycatcher” and a birder’s eyes will begin to glint: “Where? When? Will it be
there now?” are questions that will be shot out like machine-gun bullets. The first time | saw a
full grown milk-white-and-glossy-black male, with its glamorous 18-inch streamer tail, was at
the Sultanpur National Park in Haryana. But | remember better the flycatchers, that made me
run around in a tea garden in Palampur, teasingly whistling at me from one end to the other.
The nesting pair in Naukuchiatal was more accommodating except that | had to stand knee-
deep in the hotel’'s garbage dump to get a good view of them flitting to and fro the gully
nearby. To compensate, one actually flew nearly down to my feet to snatch up a bluebottle |
had missed.

Of course, there have been rarities: the highlight of the regular Bharatpur (the Keoladeo
National Park) visits was the darshan of VIP Siberian cranes. Then they stopped coming,
which was a first indication of their slow extinction — even if it was just “local” to our area. The
gloriously uppity Great Indian bustards in the Karera Sanctuary (Madhya Pradesh) were
another unforgettable sighting. The sheer disdain with which they flounced away from our
howling, jolting jeep and took to their wings was a lesson in being put in your place. Now, not
only does the sanctuary not exist anymore but those magnificent muscular birds are crashing
to total extinction.

SubQuestion No : 49

Q.49 Match the words with their meaning.
Words Meanings
a. fathom 1. team
b. aeons 2. understand
c. tandem 3. ages
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25 1.a2,b1,¢3
75 2.a-1,b:3,¢2
W 3.22,b3 c1
75 4.a-3,b-2, c-1

Question ID : 864407570
Status : Answered
Chosen Option : 4

Ans

Q.50 Select the most appropriate meaning of the underlined idiom in the given sentence.

Mrs. Arora has got the green light from the principal to organise a science conference
in the college.

J 1. Got permission to go ahead with something
K 2. Got energy and motivation to do something
K 3. Got fired for doing something

K 4. Got the work started

Question ID : 864407554
Status : Answered
Chosen Option : 1
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